Cadld

PAGE 1

DYLAN STAIRS AND RAILINGS
ASSEMBLY INSTRUCTIONS
ESCALIERS ET RAMPES DYLAN
INSTRUCTIONS D'ASSEMBLAGE
ESCALERAS Y BARANDILLAS DYLAN
INSTRUCCIONES DE ARMADO

CARAMIA FURNITURE 1 Woodslea Road, Brampton
Ontario Canada L6T 5P2, phone/téléphone : 905 361-1970, fax/télécopieu r : 905 361-1969
Toll Free / Sans frais : 1 - 877-728-0342
www.caramiafurniture.com




Hardware list

Quincaillerie

Lista de piezas

Page 2

3 pcs / 3 piéces / 3 piezas

2A

Allen head bolt M6 x 50mm
Boulon a téte Allen M6 x 50 mm
Perno hexagonal M6 x 50 mm

2 pc/ 2 piece / 2 piezas

2B

Allen head bolt M6 x 55 mm
Boulon a téte Allen M6 x 55 mm
Perno hexagonal M6 x 55 mm

w 9 pcs / 9 piéces / 9 piezas N

Allen head bolt M6 x 30 mm
Boulon a téte Allen M6 x 30 mm
Perno hexagonal M6 x 30 mm

1 pc/ 1 piéce/ 1 pieza

Allen key
Clé Allen
Llave Allen

18 pcs / 18 pieces / 18 piezas

2C

Allen head bolt M6 x 35mm
Boulon a téte Allen M6 x 35 mm
Perno hexagonal M6 x 35 mm

1 pc/ 1 piéce/ 1 pieza

2D

Allen head bolt M6 x 40 mm
Boulon a téte Allen M6 x 40 mm
Perno hexagonal M6 x 40 mm




Component list

Liste des pieces

Lista de componentes

Page 3
1 pc/ 1 piéce 1 pc/ 1 piéce/ 1 pieza 1 pc/ 1 piéce 1 pc/ 1 piéce 1 pc/ 1 piece 1 pc/ 1 piéce
_ / 1 pieza (_ —A / 1 pieza _I /1 pieza _/\_ /1 pieza Z / 1 pieza
‘ / Divider of Stair 6
Stairs 1 Stairs 2 Stairs 3 Stairs 4 Stairs 5 Séparateur** pour la
Marche 1 Marche 2 o Marche 3 Marche 4 Marche 5 marche 6
Peldafio 1 Peldafio 2 \ Peldafio 3 Peldafio 4 Peldario 5 Divisor de peldaio 6
3 pc/ 3 piéce 1 pc/ 1 piéce 1 pc/ 1 piéce/ 1 pieza 1 pc/ 1 piéce/ 1 pieza 1 pc/ 1 piéce/ 1 pieza 1 pc/ 1 piéce/ 1 pieza
O / 3 pieza _U / 1 pieza O _N m C
‘/
A N
Side railing 1 Side railing 2 Top of side railing

Rampe latérale d'escalier 1
Barandilla lateral 1

Rampe latérale d'escalier 2
Barandilla lateral 2

Longeron latéral supérieur
Parte superior de la barandilla lateral

Top of side railing
Longeron latéral supérieur
Parte superior de la barandilla lateral

Top side railing
Rampe latérale supérieure
Barandilla lateral superior

Top back railing
Rampe arriére supérieure
Barandilla trasera superior




DYLAN STAIRS AND RAILINGS
ASSEMBLY INSTRUCTIONS
ESCALIERS ET RAMPES DYLAN PAGE 4
INSTRUCTIONS D'ASSEMBLAGE
ESCALERAS Y BARANDILLAS DYLAN
INSTRUCCIONES DE ARMADO

Step 2/ Et 2/P 2
ep ape aso MOVE

Step 1/ Etape 1/ Paso 1

LEFT RIGHT

STAIR AVAILABLE FOR RIGHT OR

LEFT SIDE, ALIGN THE KD BOLT
TO BOR HOLE, BASE ONL ORR
STICKER TO SET UP STAIR ON
LEFT OR RIGHT SIDE POSITION. RIGHT
STAIR ON LEFT SIDE STAIR ON RIGHT SIDE
POUR ESCALIER GAUCHE POUR ESCALIER DROIT
" PELDARO EN EL LADO DERECHO
PELDANO EN EL LADO IZQUIERDO
9 pcs / 9 piéces / 9 piezas 1 pc/ 1 pigce /
N 1 pieza
N Iy Allen key
Allen head bolt M6 x 30 mm Clé Allen
Boulon a téte Allen M6 x 30 mm L] Al
Perno hexagonal M6 x 30 mm ave Allen




G 39vd

dc

Vi // //

vs)
U g
ec 2
30
O 35 >
> o 7
2®
N
a8 T2 S
o =T
S 20 &
23 7= d
<
SE° >
o O % .
X g'
010-,01 o)
3013 (2]
3 °
2
N
()
)
o N
U9
555 20
30
O o5 >
goz ]
-
1 %
S 25 B
S 20 o
O P - :
232
5% S
x @ &
X W @
Hwa ®
o [/
323 2
533 N
7 o
2.
N
N
w
— A==
| VY
—
S35

~ D
)

S
:=>3=>x N
o 2@ °.T
SO @2
==/ 53

O,
CD—
o
@
=

, osed [/ ade)3/ / doig

Gad ?lleled / Sa l'ele@/ sa lkeed

g osed /9 adeig / 9 daig G osed / G adej3 / G de)g

62

A aleed/ valieyed/ #a l'ejed




v-—=a

/AV—

—

S\

wuw ot X 9N )0g peay usjly

wuw op X 9N Jeuobexsy oulad
ww O X 9N UBJIY 919} & uojnog

ww QG X g\ JeuoBexay oulad
wuw Qg X g\ u9|ly 819} g uojnog

wwog X 9N Jioq pesy uajly

V¥v=,

%\'% g osed / g adejg / g dejg

9 39Vvd




	AI STAIR & RAILING DYLAN BUNK BED 1.pdf (p.1)

